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Fifth Problem. beiig Lsed i Fhr>

I have divided ten into two parts; I have then multiplied each of them

by itself, and when I had added the products together, the sum was
fifty-eight dirhems.

Computation : Suppose one of the two parts to be thing, and the
other ten minus thing. Multiply ten minus thing by itself; it is a
hundred and a square minus twenty things. Then multiply thing by

~ thing; it is a square. Add both together. The sum is a hundred, plus
two squares minus twenty things, which are equal to fifty-eight
dirhems. Take now the twenty negative things from the hundred and
the two squares, and add them to fifty-eight; then a hundred, plus
two squares, are equal to fifty-eight dirhems and twenty things.
Reduce this to one square, by taking the moiety of all you have. It is
then: fifty dirhems and a square, which are equal to twenty-nine
dirhems and ten things. Then reduce this, by taking twenty-nine
from fifty; there remains twenty-one and a square, equal to ten
things. Halve the number of the roots, it is five; multiply this by
itself, it is twenty-five; take from this the twenty one which are
connected with the square, the remainder is four. Extract the root, it
is two. Subtract this from the moiety of the roots, namely, from five,
there remains three. This is one of the portions; the other is seven.
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